
 

Note The order of GH in GH is the smallest

positive exponent s t GH
k H recall that

It is the identity in GH This is equivalent

to the smallest positive exponent K s t

gk E H

a Note that Lr Ee r r2 r3 Since

s fer yet s2 e Ecr Iser I 2

b Note that C I I I Since

j L I yet g
2 1 C L I I jc 131 2

c Note that 4 So 4,83 Since

5 4 y 51 5 10 424 51 51 5 3 424

yet 5 5 5 5 8 ELY 151 2431 4



d Note that

1,1 0,0 Cl 1 2,2 10,3 1,4 2,5

Since 2,1 441,1

2 1 t 2,1 1,2 4 1,1

2,1 t 2 1 t 211 0,3 C Lcl 1

I 2,17 41,1 I 3

e Note that

0,2 0,03 0,2J 0,4 10,6

Since


